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Is this Group for Examiner?: No
Botany

Section Id : 81356132

Section Number : 1

Mandatory or Optional : Mandatory

Number of Questions : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Question Number : 1 Question Id : 8135611601 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Cilium and Flagellum emerge from centriole like structures called

39gen S $Fwen VoA Ser ol R0oC. &S BPTOL

Options :
Plasma membrane

- ?i‘}‘*& Seso

Basal bodies

> o eILTG SEISeD

Radial bodies

;.1*’55“6 S23ben
3. ® LA
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Axoneme

% e::r?:]:)ﬁa

Question Number : 2 Question Id : 8135611602 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following

Transgenic Plant Resistant to
a. Potato 1. Herbicide tolerant
b. Tomato ii.  Phytophthora
c. Basmatirice ni.  Pseudomonas
d. Round up ready soya bean iv. Biofic. abiofic stress
SoBT AR RADGEHA0
erRyBIE Dok DB S
2. ETTY™ (o2 L 50 TesSR Se8Aciw
b. &0’ i, PEYoe
c. eRYd B i, ArEArTR
d. Fob ©d 3¢ Vatr HIS iv. &3, A poweren
Options:

1.« (a—ii), (b—iii), (c—iv), (d —1i)
L« @—1, (b—ii), (c—ii), (d—iv)

5 » @—iD), (b—ii), (c—1), (d—iv)
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(a—1), (b—ii), (c—iv), (d—iii)

Question Number : 3 Question Id : 8135611603 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Epipetalous and syngenesiuos stamen occurs in

20£065%° f.}&fge:&c S0Bodw Hoeris Ro03NE ST & ot

Options:
Solanaceae

1 % TID

Brassicaceae

ASECpSTety

Fabaceae

eI

Asteraceae

w@ﬁia

Question Number : 4 Question Id : 8135611604 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Functional xylem of dicot tree 1s

AGY D2 JyFrees’ Soird) s ol ©d6
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Options :
Spring wood

| DR TEOD

Sap wood
5 v OR T

Autumn wood

- racig‘*d:;,‘g

Heart wood
woﬂgm@

Question Number : 5 Question Id : 8135611605 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the parts labelled 1.2.3.4 in the given figure

So® DA’ 1,2,3,4 w0 Botdoc:

Options :
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1. Sheath 2. Head . Tail fiber 4. Collar

1¢I.e§°¢3d} 2. e 3. &8¢ Do 4. 506

L

1. Head

(]
L]

. Sheath . Tail fiber 4. Collar

, % 1.o® 2. S 3.88 Do 4. s*0b
1. Collar 2. Tail fiber 3. Sheath 4. Head

;% L.506 2.8 D 3. Seord 4. do
1. Tail fiber 2. Collar 3. Sheath 4. Head

4w 18T 2. 5706 3. &eord 4. 3o

Question Number : 6 Question Id : 8135611606 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Chondriosome was discovered by

570603’ VRO ST &

Options :
Benda

1. ¢ EJol®

Sutton

5 % n:ﬁ%j]&

Tatum
3 . 33 EFEJ&J
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Palade
DB

Question Number : 7 Question Id : 8135611607 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Select the correct steps involved in amplification of gene

&3*13955693 aamé@ef’ 20 00 G3W Se:

Options :
Denaturation- Annealing — Extension- Amplification

- D3 ErAE6e0 - Dohi-T Aoy — BHEBSSE0

Annealing -Denaturation- Extension- Amplification

. D) oh -DIErDSCE0 -Tdho) — B IEsmo

Amplification -Denaturation- Annealing - Extension

., Byordgceo - D3ErALSm0 D) Dohi-Td Ao

Extension- Amplification Annealing —Denaturation

. Téfo)- BB3Esno - 2 Doft -DIETDSGE0

Question Number : 8 Question Id : 8135611608 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Z- scheme 1s connected with
BE- )20 B DotoBoDDE?
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Options :
C4 pathway
| % CyDEaw

C3 Pathway

, s CaDa3

Cyclic photophosphorylation

WSO T08 FFBTHD

Non cyclic photophosphorylation

4 oIS 0D STod FFPTAD

Question Number : 9 Question Id : 8135611609 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is the first step for genetically modifying an organism?

& So& TS 2ADJDOD0D 22 §620 D& 2068 20807

Options :
Amplification of the desired gene

- T Dol 2305 &Sme356mo

Identification of DNA with desirable gene

, o ToBA0D 00D 220§E Lrdd DNA &0 Botscio

Introduction of the DNA into the host
. ©3B00S° I8 DNA &0 0% Do
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Maintenance of mtroduced DNA 1n the host

n ©ABaS” HDF DOD DNA J6Ire

Question Number : 10 Question Id : 8135611610 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Yeast cell can progress through the cell cycle in about

SEDBRD TT° & $830 Dodh VA0S DTS Botd?

Options:
20 hours
1 % 20 Aot

24 hours
24 fotoen

90 munutes
3« 90 DAwIren

60 minutes
. 60 DdvIren

Question Number : 11 Question Id : 8135611611 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Micropyle of seed is involved in the passage of

DD ot Go DB HDFS" Je W?

Options :
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Male gametophyte

28] D03 DG

Pollen tube
DOHETFD

Water
aTed)

Gases
P03

Question Number : 12 Question Id : 8135611612 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Colletotrichum falcatum is a fungus causing the disease

EB&S‘ESE}J Fre) o kD 29ocs0 Sudain T

Options :
Smut of wheat
| » DG0D sTens Srben

Wilt disease of cotton
DB HET TG

Red rot of sugar cane
DD G SOy e
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Late blight of potato
BXOTT¥ Q0D B Ty Sren

Question Number : 13 Question Id : 8135611613 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following:

a. Pyruvic acid 1. End products in respiration
b. Acetyle Co-A 1. End products in an aerobic respiration
¢. GH:0H + H,0 u1. Connecting link between glycolysis & Krebs
d. C0y+H,0+ ATP + A iv. End product in Glycolysis
SoBTAN 2GS0

2. WS B0 L TGOS0 Wod] &8\ 0
b. D2ES Co-A ii. oTay TREWE Bod| &8\T)w
c. 9F% ) S + S iil. 05700 & SRSV
d. CO, +H,0 + ATP +A V. 05O Bod| &) 30

Options :

x @—id, (b—1), (e—iii), (d—iv)
, x @—1), (b—ii), (c—ii), (d—iv)
3 » @—1v), (b—ii), (c—i), (d-1D

4 » @—iv), (b—iii), (c—1i), (d—ii)
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Question Number : 14 Question Id : 8135611614 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the following:

Column-I Column-II
1. Alkaloids i. Vinblastine
2. Toxins ii.  Morphine
3. Drugs 1. Ricin
4. Polymeric substances 1v. Rubber
v. Concanavalin

SoRT A 2¢H DHEVAW:

Sod -l Sodo-l
L. &) £ 1L D & 6
2. Sy i S8y
3. THow TT o
4. O 2085 SlogelIE iv.  6end
v. ESomrddd
Options:

| o =i, (2 —iii), 3 —1), (4—iv)
(1 —iii), (2 —iv), (3 —ii), (4—1i)

2. %

3 % (1—-1i), (2—iii), (3—v), (4—iv)
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,x 1—10), 2D, @—ii), 4—v)

Question Number : 15 Question Id : 8135611615 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is not dedifferentiated?

So& T2e5° D QDRBEG0 BWoke)?

Options :
Tracheid

1 @ TOOETeD

Inter fascicular cambium

. Doroetd 3&.{?3&5 SET P
2.

Intra fascicular cambium

DoFoddD &'.‘}arag SETOHY
3. # 2

Cork cambium

AT ) 3)3,:“3&5 SEFSY

Question Number : 16 Question Id : 8135611616 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which one of the following 1s not a bacterial disease?

& S0BHT DS &Jﬂ%ﬁcﬁ:ﬂ DD Iy TG 56

Options :
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Citrus Canker

DL 5080

Blight of rice
258 &85 arbew

Crown gall of apples

SR T &30 63395:)

Root knot 1n Tobacco

T 57 dored eed T(B

Question Number : 17 Question Id : 8135611617 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is not true for Endoplasmic Reticulum?

E:Joejg;ﬁ & 2078 DotioHow) Sod T35’ DA P8 5o ?

Options :
ATP synthesis

1@ ATP 203

Protein Synthesis

L x OD DoFie

Lipid Synthesis

3 % DHE Nodne
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Secretion

4% E“S.-’aéo:b

Question Number : 18 Question Id : 8135611618 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s not a benefit of organic farming?

& S0 T°¢65° DoHoD ;553.5“021}@ 203200 S8

Options:
Complete eradication of pests

DEL PG Fane” e O
1.¢ o

Reduced use of toxic chemicals

DRQPOS SIraLTw TES) Sfotdtio

Maintaining an eco-system in field

Zorees” e300 0% Doerotitio

Preservation of beneficial insects

) x ROradseand SO5Y Vedsen

Question Number : 19 Question Id : 8135611619 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following is a 6-carbon compound?

& $0& T e3¢ 5“605 DHEATELen £ODAD "mﬁ%";‘ém 1>80otSoC..

Options :
Succinic acid

*rbé:):)é BS})G

Fumaric acid
:;;aémaé e300

Citric acid
S 0

Pyruvic acid

 PEDS eso
4.% = -

Question Number : 20 Question Id : 8135611620 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ti plasmid is obtained from

Ti L& B Aol Jodd JraoR0?

Options:
Agrobacterium

J wﬁw%&o&:&

Azetobacler

, « OaSerEs
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Clostridinm

A oHh o
3. %8 7 &

E.coli

4 % SED

Question Number : 21 Question Id : 8135611621 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Ubisch bodies are produced from

30D B3P BR Hdowd SO\ S BOBRIEO?

Options:
Tapetum

1 eTaot)o

Vascular bundles

, TIPS iDoen

Endothecium

3 % Dot Bt

Sporogenous tissue

26 D 298 Seereo
4. % @

Question Number : 22 Question Id : 8135611622 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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Point mutation is caused in which of the following diseases?

Do) &B\BIGTe0 S0b D T SR JriyR0?

Options :
Phenylketonuria
DS 965" Aegdosr

Sickle cell anemia

5 o D8S DS AOST

Hemophilia
SR Hdosr

Thalassemia
GOm0

Question Number : 23 Question Id : 8135611623 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements is incorrect?

20BTIS° HB 55 HIBI DA?

Options:
Rafflesia 1s incomplete parasite

_— T°R0IT 208 WVOFY DT 20

Striga 1s a partial parasite

T 28y >is DT 2D

2. ® =
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Mycobacterium is a parasite

 2oF ergbair a8 Do) £D
3. ® =

Albugo is a parasite

. we_ua?f 28 DT =)

Question Number : 24 Question Id : 8135611624 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The microbe which 1s opted for narrow spectrum insecticide 1s

28 DI &6 THIMT EHAITRoD Arg) £

Options :
Bacillus thuringiensis

a.:i:w;gi:u qﬁracﬁacﬁbli:

Nucleo polyhedro virus

Arsare O 26D

Meloidogyne

20e5°00&TD

Saccharomyces

TR0

Question Number : 25 Question Id : 8135611625 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Match the following:

Column-I Column-II
1. Lederberg & Zender 1. Transformations
2. Lederberg & Tatum 1. Germ theory of disease
3. Robert Koch ui.  Transduction
4. Frederick Gritfith iv. Conjugation

Sod T°RR) 2&HDETLAW:

Sod -1 Sod -lI
1. O60y6 & Botib i, 280 D863
2. 9636 & ereo ii. Wrg) £ 08 TS0 drodo
3. oeg § fii. 280§ H3°o
1. DEBS BDS iv. 20030550

Options :
L A—iv), (2—ii), B —1), (4—i)

, x (1—iD, @—1), B—iv), (4—iid)

L (i), 2—iv), 3 —ii), (4—1)

4w A1, 2-1iv), B—iii), (4—ii)

Question Number : 26 Question Id : 8135611626 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020
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Orientation : Vertical

If we explore anther wall from outside to mside then which sequence will be correct
A- Endothelium B- Tapetum C- Epidermis D- Middle Layer

HoES S Bces” Denhv ot 508 Gof oL BoND KD e N6 §Botdod
A-dots &b B-dbto  C-erdrjcsddn  D- g e

Options :
1« C—D—-A—B

,oC—A—D-B
;s BED—A-C

4 x C—D—B—A

Question Number : 27 Question Id : 8135611627 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Avena curvature test is a bioassay for examining the activity of

DT ST HOL. (O 3 SosrFerod DO W?

Options :
Auxins

1.¢ué3.5m

Gibberellins
. E,EJE}E-@E) 3%
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Cytokinins

2¢5° 5D e

Ethylene
4w AOOD

Question Number : 28 Question Id : 8135611628 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The capsid of tobacco mosaic virus (TMV) has capsomere numbering

Jrred ararans 26D snG & god '\ Doabg Q08

Options:
1« 2130

, % 1230
5 % 2310

4 % 3120

Question Number : 29 Question Id : 8135611629 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

a. DPitch of Helix i. 10bP

b. Number of bP per each turn 1. 3.5nm

¢. Distance between 2 successive bP . 0.34

d. Nature of the Helix iv. Right-handed

2oBTDD BBHEIVID:

a. D8 ©0ed e i. 10bP

b. ©0o&de ¢ ache ‘630335 1. 3.5nm

c. 0698”18 ot 2L 06| ERGAW . 034

d Soxd AAE); DR v, S¢ 33 How)

Options:
x @=1), (b—i), (c—ii), (d—iv)

, (a—ii), (b—1), (c—iii), (d —iv)
5 « (@—1), (b—ii), (c—iv), (d—iii)
4 % (a—ii), (b—1), (c—1v), (d —iii)
Question Number : 30 Question Id : 8135611630 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

Column-I Column-II
1. Trichoderma 1. Citric acid
2. Saccharomyces 1. Acetic acid
3. Aspergillus Niger 1. Statin
4. Acetobacter 1v. Toddy

SoBaTrA) 2SHHCHoC:

fodn-1 Eod-I1
1. gfao) L D88 esuSW0
2. TREDID . DS esvan
3. R 6EOD D16 i, 3OS
4. eod8ergd iv. e

Options :
1 % (1 —iii), (2—ii), 3 —iv), (4—1)

> % (1—iv), (2—1i1), (3—1i), (4—1)
3 % (1—1ii), (2—1), (3 —1i1), (4 —iv)
4 (1—11), (2—1iv), (3—1), (4—1i)
Question Number : 31 Question Id : 8135611631 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Respiratory quotient is maximum when respiratory substrate 1s

2 ?Srbéo:’m 05 ::tcrg“e.ur? &) D\ ?Sﬁéom £ 2083 (18R Ex0Cd0?

Options :
Fats

. S

1

Glucose
- BrED
2. % =

Malic Acid

- S dsea0

Proteins

eI

L)

Question Number : 32 Question Id : 8135611632 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is called drosophila of plant kingdom?

208 TBS° BIAD By Tra| ET DY 0 DewF?

Options:
E.coli

| w 589

Acetabularia
> % e9m82E0TBOIT
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Neurospora

- rﬁ?éﬁf’ﬁf‘:}cr

Chlorella

4 % 202

Question Number : 33 Question Id : 8135611633 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Cytokinin such as zeatin was isolated from

2038 o) DTS A B Do) DB BI?

Options :
Oat seedlings
. Y8 T d08)

Rice seedlings

crx)?so Fapleb) ?.ms%w

Senescent cells

:_:“565 SET e
[~

Coconut milk

Emga e

Question Number : 34 Question Id : 8135611634 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
AP EAMCET 2020
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Schizocarpic fruits means

mf%ﬁwm e9ATT

Options :
Fleshy endocarp
CrRZ0e e9och:DRISHIHW

Fruit containing many seeds
938 DdTren sHAD Dol

Fruit which dehisce at maturity
2o ::55&5%‘?36 SEDE..‘JE\‘:H:

Fruit which split into many one seeded parts after complete ripening

. DO DS Bobd BT 9IS 28 DDA (o HE) UM DT Do
4.

Question Number : 35 Question Id : 8135611635 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In which of the following groups are neurospora and penicillium included?

ArEAYo 28050 DADoLD VAL D EPDS” BEOFE?

Options :
Phycomycetes

PE DD

1. % =

Basidiomycetes

- B o 208D
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Zygomycetes

. B8

Ascomycetes

L 5% 200D

Question Number : 36 Question Id : 8135611636 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the following:

a. AUG 1. Phenyl alanine
b. UAA ii. Tryptophan
e LT 1. Initiation codon
d. UGG 1v. Stop codon

SoAT VR RSHDCTISD:

a. AUG 1 28 0D

b. UAA i1 @gﬁ&s

¢. UUU iii. DGz =

d. UGG iv. eod| Eed
Options :

| x (@—iii), (b—iv), (c—1), (d—ii

, o (@—iiD), (b—iv), (c—ii), (d—1)
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- (a—iv), (b—iii), (c—1), (d—ii)

4« @—1), (b—ii), (c—iii), (d—iv)

Question Number : 37 Question Id : 8135611637 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Fungus without any mycelium is

%‘@ogaﬂﬁm &) %@ogaﬁ.ﬁ

Options :
Albugo
ese0N Y

Phytophthora

P& Jo

Agarius

3 % OTOSD

Sacchoromyces

?mﬁmmja

Question Number : 38 Question Id : 8135611638 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Lack or low levels of Potassium. Nitrogen. Sulphur and Molybdenum causes

T, T &S, By, B0y D0 &0 MBoKH 38y I %ﬂmxmﬁ‘ Gotitlo
1) Seduod

Options :
Chlorosis
Z}gﬁe‘_’ec

Necrosis
. Sfresoio

Premature leaf fall
Do Jd ¢35° T HEo

Inhibition of cell division
a2 DB Botdercitlo

Question Number : 39 Question Id : 8135611639 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The Campylotropous ovule 1s characterized by

S02085°85° DR oo G3wS); LELLw

Options:
Chelza & Funicle on the same vertical line

_— WOR 00030 ok Tr(Go 08 e TR &0t

Micropyle lies close to funiculus
. ot TG, 90Co)oBaNRS GACIT ot
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Micropyle comes towards funiculus
" RIOC TG00 B0COyB:0) D) OTIHAD

Completely inverted
4 % DO SO SoCDLOTT E0COA)

Question Number : 40 Question Id : 8135611640 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The salting of pickles 1s an example for

EFOMTADOS) &Ry SVDE BIS &Erdn?
Options :

Deplasmolysis

Seagssd| T(Eedo

1. %

Plasmolysis
L SEaEDy Voftso

Flaccidity
B0
® o @

Turgidity
DB BoBco
-

Zoology
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SectionId : 81356133
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required?: Yes

Question Number : 41 Question Id : 8135611641 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Union of Pronuclei of the gametes is called

RoAIr( D2 JFE) oBT°L SLANEID DAEOE?

Options :
Homomixis

Holomixis

S D0ED

Amphimixis

50HEND

Herkogamy

:r&“bri:‘.b
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Question Number : 42 Question Id : 8135611642 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

WVas deferens starts from which part of epididymuis?

DGR oS, @ oo AoE FUET"E AVGEVNBA?

Options :
Cauda epididymis

DB IDEEDD

Corpus epididymis
D06 DDEED

Caput epididymis

36 IDEED

Nomne of these options are correct
D 2T POALAG S

Question Number : 43 Question Id : 8135611643 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A sponge harmful to oyster industry 1s

HE‘Q:’;‘JU D320 T8 o DyoRS

Options :
Cliona

1 §01T“1-T
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Euspongia
Oﬁﬂ“.ﬁ“ﬂ}o&ﬂi}’

Spongilla
e o &g

Hyalonema

4 % OSSR

Question Number : 44 Question Id : 8135611644 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Who proposed that ecosystem 1s the symbol of structure and function of nature?

2T 5068 SR O30 80 ), TS LBy SIS DArte B SRR AR

Options :
Tansley

1¢ E.J".%:]Pj

Odum
> % Sutied

Reiter

5« G068

Gardner
nﬂga‘né

4, =
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Question Number : 45 Question Id : 8135611645 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Oligodendrocytes and astrocytes are neuroglial cells found in

a) Peripheral nervous system involved in formation of myelin sheath

b) Central nervous system in which oligodendrocytes form myelin sheath and astrocytes
bind neurons with capillaries

¢) Autonomic nervous system in which both cells provide support

d) Sympathetic nervous system in which the two cells help in conduction

:ﬁrﬁﬁf}oﬁr Sl TN wﬂﬁaoﬁgﬁs 08050 ugges:] 00 8 & VY

2) DOBA e HIRE" G 20atrD Sorb Doypnd” Fycory

b) Sog ¢ 3{308° eotraw. eFTOERE) MairdS Fcorb doryens® B egge%
T ST 68 88 TO50S° L0Bethid) EHCIFHNETRO

¢) %Qoto BBS TG SERE’ 6 a BT ) A

d) daFzrs =i 2306 &0 TE OSBR HPH0 EHEPAHER

Options :

1. % @

Question Number : 46 Question Id : 8135611646 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the correct differences between Chondrichthyes and Osteichthyes:

a) Chondrichthyes have gill shits covered by operculum and Osteichthyes have gill slits
without operculum

b) Chondrichthyes have swim bladder and Osteichthyes do not have swim bladder
¢) Chondrichthyes contain placoid scales and Osteichthyes contain cycloid scales

d) Chondrichthyes contain terminal mouth and Osteichthyes contain ventral mouth

o5 A2 bdosw 56 B M%) o Smred” 20 ondHd:
) Sols8 B otk 2DWDLLR 9,8 46,0 otod, B8 BD VDV
42087 84596, 0D) Goded
b) 5068 B3 otk ToE BN Eokdod, B8 B TAWENAN ok
¢) 5065 B Motk FSTONE TLRVL) Gobraw, RS BRY’ PTaE T Gotra

d) 57045 B M0 S0 QPTedAne’ eotiod, B8 BIS" T EEGAVT &otod

Options :

1, % @

Question Number : 47 Question Id : 8135611647 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Descent of man & selection in relation to sex was written by

G005 8D AT & VLD B BTN L 5y YRS Grond
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Options :
Linnaeus
. E'J:Sﬁlo:i}a

Copernicus

- gﬁﬁﬁlgn}

Darwin

P :“655

Mendel

Question Number : 48 Question Id : 8135611648 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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One of the following is incorrect regarding WBC:

a) Monocytes migrate from the bloodstream to other tissues and differentiate mto
tissue resident macrophages, Kupffer cells in the liver

b) Eosmnophils Modulate allergic inflammatory responses
¢) Basophils Release histamine for inflammatory response

d) Natural killer cells are type of phagocytic erythrocytes

S0 TS’ B0 6% SO MotoBow) VB 5B

2) IR 6580 T(T HF Srrwdnd’dS HDed Ao P48 ST Lbabo
SO0 S000 STV rddy Bodord

b) @) 0y e0) LU g@zﬁdﬁué" 2002 TG JPFow
¢) BTy TR VAL R B ot S Braw

d) 2P wods Srren 28 ES0VD B JOF R

Options:

1.% 8

Question Number : 49 Question Id : 8135611649 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the elements which lead to much variation i the physical and chemical conditions of
different habitats.

a) Only components such as Temperature, water, light and soil.

b) Only components such as pathogens. parasites, predators and competitors of the
organism with which they interact constantly.

¢) The physiology and anatomy of organisms

d) Bothaandb

DG BTI0S FAHS B0 G 00D ;’Jaigmuﬁ“ OS[BS Ao\ $0BT85" D

B0T°Y S0 SMA?
a) &8, A, 508, 0 2060 BT gD

b) bméﬁ@w, T(BRITW, HOBES, Fdorden s ?gdmnné 90t
tidjen o 2PHW

c) £PHo 306 (0] B Bodd) TR TFW
d) aSodaiwb Eodom"‘l

Options :

1. % @

Z.Qb

Question Number : 50 Question Id : 8135611650 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Arrange the following statements regarding Amoebiasis mfection:

1) The trophozoites multiply by binary fission and produce cysts and both stages are passed
n the feces

2) Trophozoites migrate to the large intestine.

3) Excystation occurs in the small intestine and trophozoites are released

4) Infection by Entamoeba histolvtica occurs by ingestion of mature cysts in fecally

contaminated food. water. or hands.

BAITHD DL DoteBod) Eobd DIST VR WO 90D GAAW’ wmﬁ‘)od

1) Jag dyen &6 NS To 8 R0 DotED, A e %)dhdmﬁ" D, Boch
308" oS Ddferierieran

2) Jig dhHw 26 2SS FTe BodoTron

3) Q) arbd’ DEFSERAN Bod TS Lapen AL wHTow

1) 200085 ZenHB0NR Db Tor eean S8 HEA S0 Joboer O
20820%008

Options:
1 % L—3—d—=4

, o 4-3-2-1
s % 4-2-3-1

4% 2-3-4-1

Question Number : 51 Question Id : 8135611651 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In human being, brown eye (B) 1s dominant over blue eye (b). A brown-eyed couple has a

blue-eyed child. What are the possible genotypes of the couple?

Sr3:Rs" He(B) dorh 63y $BA Gotttrn, Dudw(b) Gord §¢ S0 wiFGS. &
bbﬁgmaﬁﬁ A Gord 5%’00 gdad é@éo@uﬁj, 59 Gordd 5?:03 DA HoTrAA Gob)
&3 Gonehoe aams ErHaane)?

Options :
, % Bb X bb

> « Bb X bB

4 « BB X bB

Question Number : 52 Question Id : 8135611652 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Biogeochemical Cycle having a small gaseous component is found in

Q T FaDR dSwahes” § g 200e5” Tal o SADAVH?

Options :
Sulphur

_— rﬂIU;JS

Nitrogen
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Carbon

E“CSEJE.&

Phosphorous

4 3‘“5}365}

Question Number : 53 Question Id : 8135611653 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identify the incorrect matching:

SoBTe5° ST RS DOV (BoTAW:

Options :
Crack- interferes with the transport of the neuro-transmitter dopamine

T5- EH00 0D T LDTIREAL STEres” & S0 S BRVLILE

Benzodiazepines- hypnotic(sleep-inducing). anxiolytic

Bo& GOSN~ A B0, SECL £dAoBD

smack- addictive and considered most dangerous opiate

ﬁ“ég- DRI S 08010 DATEGSEE00R AFelevi1N]

Pethidine- Semisynthetic opiates

DAEES- DI VoGS 8,5y
4. v

Question Number : 54 Question Id : 8135611654 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Which of the following is not a character of red muscle?

& S0 T°5° A0 Sold BotuL VLA 5PNE DA?

Options:
It contains more red colored oxygen storing pigment myoglobin.

A0 56308 ey 5 e38y2S 5DAD EHFDS Ty $DA eotod

Myoglobin retains more oxygen

2OADHDD TP ) D 8812 20 $9A &otwod

Exhibit aerobic respiration

TN T ?S“n}é_,uia 23600080

Contains less mitochondria but contains more sarcoplasmic reticulum

) B8, TG0 O BAD ALY, D I8) FaE ) 23 £9A Gotwod

Question Number : 55 Question Id : 8135611655 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Convergent evolution is illustrated by

DV DOETATY AL T A L Tt

Options :
Dog fish & whale

1. ¢ =h DA & Soio

Rat & Dog

5 % ens & E‘.JSEj
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Star fish and cuttlefish

3 % RADG dEdo & S 1A

Bacterium & Protozoan

w%ﬁoﬁ.}o & TS

4, %

Question Number : 56 Question Id : 8135611656 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Name the classes of Tetrapoda that exhibit the following characters

AP EAMCET 2020

Column (A)

Column (B)

Acrodont

Thecodont

10 cranial nerves

12 pairs cranial nerves

Cold blooded

Warm blooded

Amphicoelous vertebrae

amphiplatyan vertebrae

$08 VLFFORL BTFGEAT WSVED DY HEA L0 Qb

Fodo- (A)

Fodo- (B)

e35 7083

A8 otd

10 220 €Jre) TocoeD

12 20 e orcen

BH GG

&8 6ga0

&2a5050 SFsen

eZohddode SECSeD

Options:

(A)- Amphibia (B)- Reptilia
|« (A)- ezooen  (B)- RO Tren

AP EAMCET 2020



AP EAMCET 2020

(A)- Aves (B)- Amphibia

5 % (A)- DO (B)- esZdaiosoren
(A)- Reptilia (B)- Mammalia

, x (A)-28dew  (B)- 6w

(A)- Amphibia (B)- Mammalia
v (A)-esobsoren  (B)- S6ren

Question Number : 57 Question Id : 8135611657 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify wrongly matched Scientific name and common name:

Scientific name

Cominon name

a) Bangarus

Krait

b) Exocoetus

Flying fish

¢) Trygon

Electric ray

d) Carcharodon

Dog fish

e) Myxine

Hagtish

ST 2BDBID ??éuﬁ T80 & FTrdes TR0 (dBotod:

FRYOD TPBHW Foede T AL
a) 2omrE SO B
b) DEMHLD DA BD
c) 8T 3)6&::595 o]
=
d) 576, 8o SRR
&) WS 6 S
Options :

Only (c). (d)
1. % (). (d) S0

(a). (b). (c) and (e)
5« (@), (b). () 20808 (e)

Only (c)
3 % (c) Sl

Only (d)
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Question Number : 58 Question Id : 8135611658 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In our body. the largest number of neuron cells can be found in

& 308 TS, Ardadvd’, OS[BS TE Erren sﬁﬁoinégu 2rtio

Options :
Eye
S0y

1. %

Tongue

5 % TR0S

Brain
3 S

Spinal cord

4 % TESoko

Question Number : 59 Question Id : 8135611659 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

Column 1 Column 2
a. Testes in males p. 4th -6th abdominal segments
b. Mushroom shaped gland q. 6th-7th abdominal segments
¢. ovaries in females 1. 2nd - 6th abdominal segments
d. anal cerci s. 10" segment

SoHTH ¢ HETLAWD:

Fod-1 Eofn-2
a.  06BPLG” DT D p. 43-63 &A6 DolTren
b.  S0HT $od Q. 69-7 668 Dotz

c. Q2P worrsaIren | I 29-6 GGG PolTww

d.  Jrodoronaw s. 10 3 otddw

Options :
, x@=p), (b—1), (c—q), (d-s)

2. # (a=—q), (b—p), (ce=r), (d—35)
;v @ P, G-, -1, @3

4, % (El LN S), (h . q)! {C i l"), [d i p}

Question Number : 60 Question Id : 8135611660 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Acrosome of speri cot ains

B0g S0 VS, NEE D 5° Gold

Options :
Mitochondria

1 % 2085° 5706050

DNA
, » DNA

Hyaluronidase enzyme

3 v TODEIEE 0B

Fructose

4% OF8

Question Number : 61 Question Id : 8135611661 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Vitelline membrane 1s a

T I &S0 D

Options :
Secondary egg membrane

- &5@cﬁa @od@&tﬁo

Primary egg membrane

| DO sodsgo
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Tertiary egg membrane

3 % eja,er_"loi) Eﬂc(iejséo

Nomne of these options are correct

4 % @ 2T°ED VOGDLIA W

Question Number : 62 Question Id : 8135611662 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Which of the following points are important for successful bee-keeping?
1. Knowledge of the nature and habits of bees.
il. Selection of suitable location for keeping the beehives.
1. Management of beehives during different seasons.

iv. Cross hybridization among selected parents.

408 DIBTOS” SIBML DeHEAS’ D2aHIoBAD STHEFIS S0 DD?
L D% D eITrrd, ML STV Buk) §HcaD
il 8308 DO(IPHL GRS HBFAVO MHBotseHw
i, NG 2oPHVE” GG CIrRAT| DEBIRY FBotiEaw
iv. 5300 30w 26| RS

Options :
(1). (i1) and (1v)

| (D) (i) 20805 (iv)

Oanly (11) and (111)

, 4 (i) 20805 (iii) Srg

(i). (ii) and (iii)
o o (0, (i) 20800 (iii)

il
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Only (1i1) and (iv)
4 % (111) s0BaiD (1v) Hrrdad

Question Number : 63 Question Id : 8135611663 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

With increasing age. the linkage

S0HRDY b&ﬁ%"% R &

Options :
Terminates

| xS ORI

Becomes strong

9 o BRI

Becomes Weak

5 DOTIDE

Remains unchanged

, o DTG

Question Number : 64 Question Id : 8135611664 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Statement 1: Complementary pairing between nucleotides 1s exploited to diagnose presence of a
specific DNA segment in a mixture.

Statement 2: DNA probes having radioactive isotopes help to detect DNA by autoradiography.

ROSBAD 1: APEArEE ) BOD0IE) w8 DBFENN aFavawes’ DNA Q05 GOEER
SR RIS &DOIrAT M
0558w 2: DNA BEarerB)s adfe 'Sy #'dod a0 DNA & estiBearnd miomd

Options :
Both statements 1 and 2 are correct and statement 2 15 the correct explanation of statement 1.

1 & e 1 andodn 2 0 @000, Pt 2 @000 1 A5 0 00 D0

Both statement 1 and 2 are correct but statement 2 1s not the correct explanation of statement 1

LD 1 08010 2 20 B0, P 2 B0 1 A% A8 0D DI06R ST

Statement 1 1s correct and statement 2 15 incorrect
Do) 1 200 20000, Dod0a 2 0 on0ad P

Both statements 1 and 2 are incorrect

4 % 2aida 1 0doiw 2 D8 90000 57

Question Number : 65 Question Id : 8135611665 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The term Ecology was coined by

QSO €90 DO0 PHITO0LD T

Options :
Lamarck

_— wmﬁb

AP EAMCET 2020



AP EAMCET 2020

Bateson

, i B0yD

Haeckel
3 a3

Spencer

4 % ?\335335

Question Number : 66 Question Id : 8135611666 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the followng statements 1s/are mcorrect?

1) The human liver fluke. a nematode parasite, depends on two mtermediate hosts (a snail and a fish)

to complete its life cycle.
2) The malarial parasite needs a vector (mosquito) to spread to other host organisms.

3) In case of brood parasitism. the eggs of parasitic burds (e.g., cuckoo) are not detected and removed
from the nest because the parasite’s eggs resemble the host’s eggs in morphology and colour.

4) A population of frogs protected from all predators would merease indefinitely.

2008 DO PSRN/ IR Miodod.
1) ardd 86 s as DartS e :‘.amla%a. 20 B9 B 950 QPO S0E L To

QrgEs eadaren (9, 9o) P BrreHod

2

DFaIr DI ED TS wf Firsan (Bd) Togd

3) b §3 Do) 2adan dod 909 2D D e edBon £ MHE DBArRD, S &l

DT Eoé&)ﬁ;l) BODE0 DO A3 LMD B’J%})Qf & JFaco andoin DHDoDEDD AWM

4) Sdy0 e HUEESTOM0 6omERNL e dddannm dhrbra

Options :
(1) and (4)
1.« (1) a0dasiw (4)
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(3) and (4)
) % (3) andaiv (4)

only (1)
L x (1) orgd

All given statements are correct

4 % QO TROD DADIT D DOEDRD

Question Number : 67 Question Id : 8135611667 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Amazon Rain Forest 1s known as

IDVEF IENVR & $08 DSl DBABIC0.

Options :
Lungs of Forest
9DV GIVS) EpDdBB0en

Lungs of our Planet
Br@iro 0l &rOdSBW

Lungs of Plants
2008) © GINE) E#DdBBON

Lungs of Mars
T3S (<o GIVE), E3DdBB0eN

AP EAMCET 2020



AP EAMCET 2020

Question Number : 68 Question Id : 8135611668 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Bacteria and fungi developing on dead decaying organisms are

Vo 20,BETaTVD BB Bodd er§dair, omren

Options :
Symbionts

1 % RIPRIST

Saprophytes
5 RrasTicoen

Parasites

DTB) BPew

3. %

Commensals

4 % RIS RTW

Question Number : 69 Question Id : 8135611669 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements is correct regarding the principle of safe blood transfusion?

WGES 68 brﬁ;jci DTTVL Roziofot) §oB TS’ WO NI AA 7

Options :
The donor’s red blood corpuscles should not contamn antibodies against the recipient’s serum

1w 02RO N0ANDL HABANT T a0g), RBC S0t SEFR) Gkt
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The recipient’s serum should not contain antigens agamst the donor’s antibodies

| T3 0BT 23550 HORITW o HBANS° GodTdd

The recipient’s serum should not contain the antibodies against the red blood corpuscles of the donor

5. T8 RBC 8% 3806200 908w eTdh 6A08° EoTmed

The recipients red blood corpuscles should not contain antibodies against the donor’s antigen

4 % TS, PSRITVL .;‘559‘365@:) DOBH (fered RBC &° Gottoed

Question Number : 70 Question Id : 8135611670 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a mating two mulattos, each heterozygous at all three gene loci for the skin colour. what is
the chance their child will have very light skin?

BB 3 28 g"é;fmw bamoiwﬁéza.:xnn‘ £da% “:.11:*59.:&5‘ " 20800 Dodd 99
ST DY 6 ANS D 9T IN0?

Options :

1

1. % 4

2. % 8
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4 v 6%

Question Number : 71 Question Id : 8135611671 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identify the incorrect matching

057D 28 Do oG

Options:
Thyroxin - Iodination of amino acid called tyrosine

, BT - AT AT TE), WANEECETI) FEDS Wotrdd

Melatonin and serotonin - Derived from Tryptophan

. DOEDD 208aH0 GG - BFDS Wed &S\D BabeEeron

Epinephrine - Transformed from an amino acid Phenyl alanine,
L, D0IDD - DS JVAD DS BRAWD Kol BTGB

Corticoids and sex steroids - Derived from Cholesterol

, SO0 S0k GonsH DG e - FTFS ok &3S BabeEoran

Question Number : 72 Question Id : 8135611672 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Acronematic flagella are seen in

DEDATE SToeren £OAD £
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Options :
Euglena
- asohoe
Chlamydomonas
SRS DR
2.¥ =
Astasia

)
3 % Q08T

None of these options are correct

4 % O RTED VB T

Question Number : 73 Question Id : 8135611673 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In T S of human small intestine Serosa 1s the outermost layer and 1smade up ofathin A
Muscularis 1s formed by smooth muscles arranged outer B and mner  C layers,

Sub-mucosa 1s formedby D . Mucosa is the innermost layer made of _ E

2D D) DD ) e T 00 Dedd To. @0 HeSd _A__ FIP, 0
S0t D0\GN Socio QO ot dewde) _B__snboin 08 Py _C_ &ar
OGFPA0A0 ©0IG _D_ Far '8 o eond Fyacan _E_Fi doycaron
Options:
A- Endothelium, B- longitudinal, C-circular, D- loose connective tissues, E- Mesothelium
A-oEHB0a, B- esaing Soctren, C- w0k Soctren, D- aen Nodiras

1 % Swerodw, E-03 8o

2. %
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A- Squamous epithelium. B- Circular, C-Longitudinal. D- loose connective tissues. E-
Columnar epithelium

A-‘*EUE}U &84, B- oo Sodoren, C- esoiwd Sodoren, , D- Sdoen Doddras

Seered, E-Qotrs0 eosy

A- Mesothelium. B- longitudinal. C-circular. D- loose connective tissues. E- Brush border
epithelium

A-SF S0, B- esaine Locioren, C- Hooh Socoren, D- ace nodrad

3 v SoErody, E-503 oo Jnddoban

A- Mesothelium. B- longitudinal, C-cireular, D- Endothelium. E- connective tissues
A- I EBaH, B- es050e8 Socoren, C- H00 SocTren, D- Jo&ddabay |, E-

4 % NOCIraSs Seerean

Question Number : 74 Question Id : 8135611674 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A sample of blood shows clumping with antiserum A but not with antiserum B. The blood
group would be

28 68 ToDS afrot) D60 A’ & D560 6yE alrol 6w B & )\ $om 26s
T8 06 D 68 5640 03087

Options :

1.% O

2.v A
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Question Number : 75 Question Id : 8135611675 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The endocrine gland responsible for immunity is

20O S TOITESIS” TG 0B IFIE (Jobd

Options :
Adrenal
. VOD)E), Gobd

Pineal
5 x 2VODS (b

Thymus
L, BD (o

Pituitary
¢ 203078 Jodd

Question Number : 76 Question Id : 8135611676 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Water vascular system 1s found in

BODVOED SV 2D EHew

Options :

AP EAMCET 2020



AP EAMCET 2020

Sea Pen

| x ODD

Sea Anemone
0 % 2 9DATD

Sea Cucumber
3 o  Sowb

Sea Horse

]
4 % ~J :355‘:)

Question Number : 77 Question Id : 8135611677 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Assertion: The portion of the myofibril between two successive ‘Z’ lines 15 considered as the
functional unit of contraction called sarcomere.

Reason: During contraction, ‘T" bands get reduced whereas ‘A’ bands retam the length, thereby
causing shortening of the sarcomere.

DBy BB0: S0c0 APE) BoBPLe” Botd SN Z' e e ol Jromry 060 DL
90t

SR : So0 DoSwaNe” -8 TE) 08 50 A D TEQ) ArgaD CHTSEIT

&0e000). 90DV DOEE DoCHa) TED of T otod

Options :
Assertion and reason are true and reason 1s correct explanation of assertion

_— :J%‘r}ejm} 208030 50D M0 905D, SO SJ%‘QEMK}SJ 20 230005 Do
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Assertion and reason are true but reason 1s not correct explanation of assertion
APy B0 O SPOEAD O 90NN, SERAN IFYBANNL DO ONN D0 57

Assertion 1s true and reason 1s false

- :J%rhe:é.ﬁn 230 #9005, TR0 D0 20058 TR0

Both assertion and reason are false
4 % KJ%’Q@M a0B0IL PO DO 90D 5P

Question Number : 78 Question Id : 8135611678 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Enterohepatic circulation of bile salts refers to

a) Circulation of bile juice between gall bladder and liver through cystic duct
b) Combining of bile acids with sodium to form bile salts
¢) Bile salts after emulsification are absorbed back into blood and are used 1n liver for bile juice

d) Bile salts of chilomicrons are released into blood and are carried to liver where they are not
used in formation of bile juice.

B[ 00 VIR SHAIrog AT AN Ardod
a) PO) G & 20DTPVAD OO EFFODAD BT FHODAD G| T BOMHD
b) Paj 0 earen Jeadaw & SI PEP| 0 VOEFL) A0\ET0D
.c} ROJO VDEFL) S0 BT 640 '8 FaodeEeran i SPadaw
o) PAYERNNE" EVAPADEND
d) 3D & o PIFER LHEFLD 050 '8 DG BN ML) 65N T
sFoDand) $0 oe PAjiRm DTN & GG

Options :

1.% @
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4.v 4

Question Number : 79 Question Id : 8135611679 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Consider the following three statements with blanks. Which of the options correctly fills all the
blanks in these statements?

a) The ascendmg limb of loop of Henle 15 impermeable to (1) butallows
transportof  (2)

b) (3) and  (4)  playasigmficant role m producing a concentrated urine.

¢) A fall m glomerular blood flow/glomerular blood pressure/GFR can active at the JG
cells torelease  (5)

800 S0P PdSY VXD OB, THES’ arPOR VBT Aod HATEHA (Do,

2) 9 38 dood Bfire eriro) (1) © e ddpaumd Gotod, 520

__ () Do eotnod
b) _ (3)__ anBotv_ (4)_ e eds mes SDAD Ardan Socwe” &yt

0) fdrsy 64 acdan For Faoers 68 Damiran /GFR ofd)y® ase) faher6

deren Sobadosdanon (5 & dse dJron

Options :
(a)- (1) Water (b)- (3) Helens loop (¢)- (5) Renin
(2) Sodium Potassium ions (4) Vasa recta
(a)- (1) D (b)- (3) @D LFd (c)- (5) 8D
- (2) Feabo Ferdano ara (4) o B3
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(a)- (1) Sodium Potassium ions (b)- (3) Bowman capsule (¢)- (5) Erythropoietin

(2) Water (4) Glomerulus

(a)- (1) TFéavo Fernapo varay  (b)- (3) Fawd DY (¢)- (5) DB oD

2 % (2) A (4) Baoood
(a)- (1) Water (b)- (3) Helens loop (¢)- (5) Erythropoietin
(2) Sodium Potassium ions (4) Vasa recta
(a)- (1) D (b)- (3) i &ed (¢)- (5) DBF oD
3 % (2) Feapo Ferdabo eair (4) o bz

None of these options satisfy all blanks

4 % @ BOED VOADIHG 57

Question Number : 80 Question Id : 8135611680 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following pairs correctly matches a hormone with the conditions resulting from
its deficiency?

& S0 T8 3’3556&’5 &0 950 oot bﬁ?g@uﬁﬁ BT 2GB0LEE HBotdEw

Options :
Parathyroid hormone- Diabetes Mellitus

- FTForané S6)S- caDeBdd P0d

Luteinizing hormone- Failure of Ovulation

- Lr{Bd20f ) J- oS IBI Do

Insulin- Diabetes insipidus

220193~ Casrasd f;-h:jﬁbc:;i:
®
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Thyroxine- Tetany

Bo°E\S- e

4. %

Physics
Section Id : 81356134
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135611681 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Faraday’s law among the following is

& 808 T°e5° D DL FEE PIBAA ATDRE?

Options :
Q

£o

$E.dA =

- $B.dA=0
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$E.dl = =

d0g

4w $B.dl = pgi.+ o

Question Number : 82 Question Id : 8135611682 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Sound waves of wavelength 4 and velocity v in medium-1 enter medium-2. If their
velocity in medium-2 is 4v. the wavelength in medium-2 1s

2,8 03rdSANS” 1 Bbor Qgé;ﬁm v D0 e 6553 B0 Dot O3rdS0e°

2PN T8 DS 4v oS, T8 @Goﬁggé;m K3

Options:
Y

Question Number : 83 Question Id : 8135611683 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The coefficient of self-mduction of a closely wound coil of 100 turns and area of cross-
section 1 em? is 1 mH. Find the magnetic induction at the centre of its core when a current
of 2 A flows m 1t.
100 528 Roa, 1 cm” a8 DT (o BAOT ot 26 Seicsol) 1mH Wqeso
2058G0 5B 0. T BT 2 A DS HITeDNYYE B Bo@A0 ¢ A6YE
00T, 08 268 Edoria.
Options :

=2
\ » 0.022 Wh.m

> % 0.4 Wh.m™?

3 % 0.8 Wh.m™?

4 % 1.0 Wbh.m™?

Question Number : 84 Question Id : 8135611684 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The average emf induced in a coil. when the current i it changes from 2 A to 4 4 1n 0.05 s.
is 8 V. Find the self-inductance of this coil.

2.8 éﬁtﬁ)ﬁgé& 0.05 s & @C&)}S@ Do 2 A Aot 4 4 & &Tﬁé‘@bm 20808 HTd
DTS Lo 8 V eowd, & i’ Ao~ 080 dod?
Options:

| % 0.8H

5 % 0.4H
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3w 02H

4% 0.1H

Question Number : 85 Question Id : 8135611685 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The pair with same dimension 1s

2,8 A £9AD 20

Options:
Pressure and density
Do 2B0D Froed

Impulse and momentum
DO EDBE0 Bt BODr%0

Stress and strain
FSTLTATI RPeblelou bV 35‘593

Momentum and inertia

) Q;ﬁééﬁc 003D 2ESDWD
4, % =

Question Number : 86 Question Id : 8135611686 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A disc of mass M and radius R rolls without slipping on a level surface with a linear speed v.
Its kinetic energy will be given by
M @:.argm%‘. R ﬂ“,&ﬂ‘go (0 28 O¥) w8 DATed Svop &S BHBVYYW. T
3o I¢ v wod, oD (028 dod=
Options :
B

1.+ 4

4 2
— Mv
2. % 3

3 % 2Mv?

4. ¥ 3MU2

Question Number : 87 Question Id : 8135611687 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The peak current through a 200 mH inductor connected to an AC source of peak value
210V and frequency 50 Hz is

210V 326 Jeosd, 50 Hz FREDI0 (v 28 23708 200 mH 905°d) €028, &

2080 (ol HdeTotd FPE DENS DL BLIYLAW.

Options :

, » 334

3 % 854
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4. % hhA

Question Number : 88 Question Id : 8135611688 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the energy released in the fission of one nucleus 1s 3.2 X 1071 J. then number of nuclei
required per second 1n a 16 kW power plant is

28 So@s™R) Dy)0 BRDYYE 3.2 X 1071 T 38 dewoddd, 16 kW avmgso the) 8

DANS ST TTAS 28 DS 3008 Sogse) P08

Options :
1 ¢ 5x 10

, % 53X 10%
3 % 0.5 x 1012

4 % 0.5Xx10%

Question Number : 89 Question Id : 8135611689 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body 1s moved along a straight line by a machine delivering constant power. The distance
moved by the body in time ‘t” is proportional to

?q:;d &mggmﬁ 28 ODodAN 28 HWPA NEYOD ;ﬁ:"g;ﬁnﬁ“ oS08, ¢ oA’
65 A0 POLTEIoTL EPEA & RS ArT S80S’ GoddR.
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Options :

1/2
1. % .

5 % t°
372
3 ¢t

n $3/4

Question Number : 90 Question Id : 8135611690 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The potential difference between points A and B of adjoining figure 1s

H05065° D SwoHans” 4 Sdoiw B © 206 ﬁ“ﬂa}oﬁﬁ B0

50) 50
A AN AW B
v .
50 g SQ§
503 50
DL A A &
Options :
2
—V
1. ® 3
——F
2. %
4
—V
3.¢# 3
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4% 2V

Question Number : 91 Question Id : 8135611691 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a tyre pumped to a pressure 3.3375 atm at 27 °C suddenly bursts. find its final
temperature (y = 1.5).

27 °C ¢ w8 tok. B AWs), f:c.‘.aﬂl 3.3375 atm H6%) HoxY) WRCET wé&*&@pm
&3 g0 HADS, Bud ﬁg"’gé (y=15)

Options :
1. % 27°C

2 % —27°C
3. % 0°C

4 v —73°C

Question Number : 92 Question Id : 8135611692 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A force of 0.03 N acts on a body of mass 0.5 kg. which 1s mitially at rest. for a duration of
10 seconds. Then find the momentum acquired by the body.

NEXD f‘ge‘iéé“ &) 0.5 kg 3302 o 28 S0 2 0.03 N wwo 10 2506 1 BodA.
D, 8 S0P ToBA @[ S0 SLYAW.

Options :
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| % 0.15 kg.m.s!

, » 03 kg.m.s™1

3 % 0.015 kg.m.s !

4% 0.05 kg.m.s!

Question Number : 93 Question Id : 8135611693 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The radivs of curvature of the curved surface of a plano-convex lens is 10 em. If the refractive
index of the material of lens is 1.5. then it will

DRBV-I0LTTE SHEAD HEBY EH0BY JET° aﬂsbgm 10 cm. &8 S0EAD S8
(easw 1.5 eaqnd, el

Options :
Act as a convex lens only for the object that lie on its curved side.

| SR, BEBVBN DY G) ) JrGB LoEFSE SLEIWT DI Bl

Act as a concave lens for the object that lie on its curved surface.

, s DROD, HEB0BN PIY ER) DY TG DTG SHSVT 1 BR6

Act as a convex lens urespective of side on which the object lies.

L o SR, D PR &R DYBE Dowrss SRSIWT H B0

Act as a concave lens urespective of side on which the object lies.
n DRI, &) DD Eaﬁli:-;}ﬁg LTS C SLSIATT DA BB
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Question Number : 94 Question Id : 8135611694 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements is false?

& $0& DIDT LS’ VA Do EL?

Options :
Momentum 1s conserved in all types of collisions

Ej':}l o5 edHTrTrees” Qarg;ﬁri;.‘na i}ejﬁésamw Eotoa
1. %

Energy 1s conserved in all types of collisions

Q) 65 edirrTred” 3 QB[S0 G0
2. % N

During elastic collisions conservative forces are involved

- RETDE VDHrTOS” VoDETADH UL DI BIaW

Work-energy theorem is not applicable to inelastic collisions

AT DS 9D HTrErees” HI-2S Hrocho 8ot
4 & @ St ~

Question Number : 95 Question Id : 8135611695 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A transverse wave along a stretched string has a speed of 30 m. s ™! and a frequency of
250 Hz. The phase difference between two points on the string, 10 ¢m apart, at the same
mstant 1s

28 BB DYoo’ pasredos 48 YETT Bborin Sio 30 m. s~ By FDLYo

250 Hz. 10 cm Grdsne’ &) G0t Dot .ﬁ)&;ﬁé 28 DA00%08” G Btio dodh?

Options :
1.% 0

T
2. % 2

Question Number : 96 Question Id : 8135611696 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The potential at the centre of a hollow. charged metal sphere of radius 5 em. so that the
potential on 1ts surface 10 V. 1s

5 cm S0 (o 28 6538 ef'wn Aviw awg) edddvind TOJAHS 10V &old,
e H¥ Sogitn 3¢ THHS Dews

Options :

, w10V

AP EAMCET 2020



AP EAMCET 2020

Same as at point 5 em away from the surface
- Bk Qo) 5 om Gréhaw &° Ko Do) 58 ﬁ“ﬁ%oﬁaﬁ £ VAT

Same as at point 25 ecm away from the surface
4% B0 Do) 25 cm Ardaw S (e Do) e ﬁ“ﬂ%n‘.‘mﬁ £ AT DA

Question Number : 97 Question Id : 8135611697 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An intrinsic semiconductor 1s:

*ri:aga,:“;ﬁa.-:- e::gm:?sQ (SIS

Options :

Neutral

cheddo
@

Positively charged
B e3DIITOIAL

Negatively Charged
22003 eSDFIPOSID

Sometimes positive and sometimes negative.
2878, 8 © 208050 287 8) FD e

Question Number : 98 Question Id : 8135611698 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The rapid changes in pressure and volume of an ideal gas under thermal isolation are
governed by TP~2/° = constant. The gas may be

ERR00E BINS" BE6TANY HED, WIVATEOS’ 200 3108 ArHW
2Ardotdd PvEsRAw TP /5 = 20620, &8 TAY

Options :
monoatomic
1 ¢ D8 HOATENE TPV

diatomic

- QLRD0TEDS ST

triatomic
3 % GD62T°e0S T"03Y)

polyvatomic
4 % BEITVDCATEDS ST°000)

Question Number : 99 Question Id : 8135611699 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The memiscus of a liquid contained in one of the limbs of a narrow U-tube 1s placed between

the poles of an electromagnet with the meniscus in a line with the field. The liquid 1s seen to
rise to the line. This indicate that the liquid 1s

28 DY U FRawe’ 2,8 Graee ang), SSS0IR w8 DdJ?ScSo:ba“gjoe:’s:m s
GTO G ES30 OFIS VATOSCAVT Eotrd). & TR & BFIS P8 TUWANS
€3 3a£9:00)

Options:

1. ®
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Ferromagnetic
e e&nﬁsi‘r&oeﬁom

Paramagnetic

- DG @m&boeﬁm}

Diamagnetic

3 % cair e.a::::i:-%“bmj;ﬁm

Non magnetic

Eﬂa‘:cméﬂz o0eh)
4. % )

Question Number : 100 Question Id : 8135611700 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a light of wavelength 6328 A is incident on a slit of width 0.2 mm perpendicularly.
the angular width of central maxima will be

6328 A 8601330220 o 032 0.2 mm deéewy (0 28 DI VorsAT 1S9

ﬂii’az‘\‘sf’.g_)bcb. ZoQ0% ﬁe’%loﬁl’ 03}:-53) E'riaD écle.u:) B0,
Options :

1. ¢ 0.36°

> % 0.18°

3 % 0.72°

4« 0.09°
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Question Number : 101 Question Id : 8135611701 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statement 1s correct?

S0d DIBT LS’ DA POADAG?

Options :

Airplane works on Newton’s laws of motion and Laser on Raman’s Effects

AP(R (200 APEPUR BEPEHE DAd0 DABEVE BAbL TR HerHop Tub
DBt

Hydroelectric power is based on laws of thermodynamics and rocket propulsion on
Bernoulli’s theorem.

G108 TRRPT U 20IES 38 S0Boky mé"lb Ardon) T°54) eudo BTFEREIRD.

Computers are based on digital logic gates wlile electric generators on Faraday’s laws of
electromagnetic induction.

G208 S0 (T SEFGoT SoyP(Rd, JF0E JEJEOH)ed 68 Argrop JENS
2B STEHE DABFaW.

Hydraulic lift on Pascal’s law and electric generators on Newton’s law’s of motion.
8 Ardo eserdorr S 9 datn AP A2 ArgrY BErdorr Jugs
2A0E) DABOIVRY.

Question Number : 102 Question Id : 8135611702 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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With rise in temperature, young's modulus of elasticity

&' DONS, DB JDE Aol ML

Options :
Decreases

S
1.v o

Increases
) % Falebablve]

Changes erratically
u@;ﬁg@;ﬁmrﬁ AR

3. %

Remains unchanged
4 % SO

Question Number : 103 Question Id : 8135611703 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The center of mass on combining two masses m and M (M > m) will be

m 208odw M, (M > m), Qaﬁét:“%‘om (12 B0 DAYV s&}ﬁm:;;haa, &3 bﬁb‘{g 0313&%
Q;ﬁﬁc‘% Sogio &0t
Options :

Towards m

1w M P

Towards M

o M B2
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At the center of line joining m and M

— S08cin M o €85 da 505§

At centre of mass of m
m a3, @::53“% Sodio =l

Question Number : 104 Question Id : 8135611704 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Work done on (or) by a thermodynamic system 1s zero in which of the following processes?

408 2 DSOS’ &BS DN 2 200X, o ;35;5“%} 203 D B[R0 BPA?

Options:
1sothermal
n:I:U"%g_S

1sobaric
2B

1sochoric
PRI

adiabatic
e

£3

£ Uﬂ

Question Number : 105 Question Id : 8135611705 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Equal volumes of hydrogen and oxygen gasses of atomic weights 1 and 16 respectively are
found to exert equal pressure on the walls of two separate containers. The rms velocities of
the two gasses are in the ratio

1 258050 16 ee0r00 (0 &2 2B e.eéhab TOS)W VAT DA’
&) Q. DB 3600 Frgod’ Sosw) ©d T8 Hlop K 26T SeufdnTT) ov.
29000/ €5 Totd) TPOIVYY rms(bg BVABY bg:m“v) 2rY Ad

Options :
1% 14

2. v 41
o ¢ 1022

4 x 3251

Question Number : 106 Question Id : 8135611706 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body moving along a circular path due fo a centripetal force having constant
magnitude 1s an example of motion with

D600 (0 ©DZoGuno SV w8 Y HTTS 5r°Go8” ottty eI
D (AT IS erdn?
Options:

Constant speed and constant velocity

NGSE S0BOID OIS
1.8 @ )
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Variable speed and variable velocity

L . ORODVD D& 2dasw RGBSl

Variable speed and constant velocity
w%d@é S Sobaoswn f'gci;"jﬁ;.‘m

Constant speed and variable velocity

DOSDE B0 900N DAL
4. ¢ @ G =

Question Number : 107 Question Id : 8135611707 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

According to Bohr’s theory of the hydrogen atom. the radii r;, of stationary electron orbits are
related to the principal quantum number n as

6560 6 A HOATEY) NS0 HEGAD QT WLE[Y 35&8‘*9)5: (1), T

(ot Roa)f () & oLoan

Options :

e T (/)

, o X n?

5 W n

4 r, o« (1/n)
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Question Number : 108 Question Id : 8135611708 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two spheres of equal masses are attached to a string of length 2 m as
shown in figure, The string and the sphere are then whirled mn a
horizontal circle about O at a constant rate, What is the value of the ratio?

(Tension in the string between Pand Q) _ 9

(Tension in the string between P and 0)

D008 tPD Do 2 m TR S Toth DAFD EIT-H0R (10 Ao 830818,

0 56 6 5t €io: Deforr MR B ) red ST Com Gotitotn OZT .
€900 S0 AN 200 odh?

P 80w Q © 63 SHS' SR .

P 28050 0 © 0 SIS S8

Options:
1

1. % 2

2
2.+ 3

Question Number : 109 Question Id : 8135611709 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

The centre of mass of a ring 1s

&orido AS),; Q;ﬁéﬂ“%‘ Sotdo

Options :

Outside the material of the body. at the centre of symmetry.

| % ;ﬁ‘;n}::;’:m"gc AlevilN iﬂ“‘o;.;l;.‘l So&o ;ﬁg.

Within the material of the body. at the centre of symmetry.
HRODTEGo 5700, FND SoGo D&
2. @ £ @

Along a tangent of the ring.
, y GofiGo g, 6 8Dabor

Perpendicular to edge of a ring.
4 % &ofifo CINS) WotVS) LokolT

Question Number : 110 Question Id : 8135611710 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The coefficient of linear expansion of crystal in one direction is @ and that i every
direction perpendicular to it is a,. The coefficient of cubical expansion 15

28508 28 63" cle} T8 LRSA 1y TS vorolT B Hwe’ alo} T8
RS @y 0D DB T(E L Meagiw.

Options:

1 % 8] ‘|‘ﬂ'2

> % 2ay + a,
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3 v @ + 2a,

. ay +3a;

Question Number : 111 Question Id : 8135611711 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The kinetic energy of an electron which 1s accelerated through a potential difference
of 100 V will be

100V f}“ﬁ;go‘i)ﬁ B0 80D Doy mc::5 &G0 Wod Dvgﬁ (i3S dodh?

Options:
1 % 6.626 X 1074 ]

, % 116 X 1047
3 % 41867

4 v 16Xx10717]

Question Number : 112 Question Id : 8135611712 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The percentage volume of ice-cube outside the water when it 1s floating in water is
(Density of ice is 900 kg.m ™. Density of water 1000 kg.m ™)

HS® g Aot 2008), BB . 58 eabhey Se0803) ot LR HBATE
TN (S0t AI0g), Fo@d 900 kg/m’. e akog), o 1000 kg.m™)

AP EAMCET 2020



AP EAMCET 2020

Options :

Question Number : 113 Question Id : 8135611713 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two small metal spheres A and B charged positively are separated by 2 m m air. The
force on a charge of +1 C placed on the line joining the centres of the spheres and at a
distance of 0.5 m from A 1s found to be zero. The ratio q, * qg of charges on A and B 1s

(TS 8200 DENASCAN B Tocd D) &'4rY Aveen A 208asw B o md&’ 2m
Grdod’ &) 0. DE(ETIIAN +1C & Botd Av Somvid $95 d3 A Axod 0.5m
GrG08" GoRNE TPRP Lo AT M SRVE) T 6. 4 B0 B o P ATITY

NS 41 (p =
Options :
1.51:3
2. % 331
3.33 5:1

4\/1'9
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Question Number : 114 Question Id : 8135611714 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body of density d; 1s counter poised by M g of weights of density d, in air of density d.
Then the true mass of the body 1s

d Fogd €982 DS d, Fogd $DAN 8 ertiw d, Fogd $DA M g 2rdaw £dAD

FE PEANE DATIANT SorsdHB. &35 erridw W), AT Jod?

Options :
1.5 M

Md,(d,—d)

Question Number : 115 Question Id : 8135611715 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A conductor carries a current of 300 mA. The number of electrons passing through it in 1
minute are

28 TS0 300 mA S A SRSTTVE. 1 NS DHrotd VTR oy
Options :

1.125 x 107
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: 1020
5 1.125 x 10

. 23
L« 112510

25
4« 125x10

Question Number : 116 Question Id : 8135611716 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two projectiles A and B are projected with the same initial speed. A is launched at an angle
¢ with the horizontal and B at an angle ¢ with the vertical. If A has a range R; and B has a
range R,. then

A 20801 B 03 pE05en 2,8 Hod 0 BRI A 02 daredded ¢ Sto, B
$8avotod ¢ Srio $B0ET) . A (%) Ry 8k B T R, wand,

Options :

1 % Rl = 2R2
2 % Rl == DSRZ
3.v F1 =R

Question Number : 117 Question Id : 8135611717 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

ey ; s 12uF
In the circuit diagram shown in the adjoining figure, the ) I
I I

resultant capacitance between P and Q is

) S—T

Sod HRANG" Wrad oA’ P ot Q © 06

20 33289y Dewd 0 — |

20uF

Options :
1 % 47 uF

2.v 3HF

5 x 60 uF

4 % 10uF

Question Number : 118 Question Id : 8135611718 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A simple pendulum oscillates harmonically about x = 0 with an amplitude A and time period
T.Ttsspeedatx = A/2 15

A B0 50008, T 83363 soiw 898 x =0 96 w8 LS VI DEY T S0
EorTen Sined. ©od x = A/2 3¢ & Sridw

Options:

ﬂAﬁ

1. T
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Ta \,"'E

3mlA

Question Number : 119 Question Id : 8135611719 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the moon 1s to escape from the gravitational field of the earth forever. it will require a
velocity

AR (e 350 okt F3(S0TT DAL Do) 9063 SRR D

Options :
1 = 11.2 km.s™t

less than 11.2 km.s™1

: . -1
5 @ 11.2 km.s ! Soé3 935%;3

slightly more than 11.2 km.s ™1

3 % 112 km.s™ 608 e

4 % 224km.s™?

Question Number : 120 Question Id : 8135611720 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Point charges each equal to +q are placed at the vertices of an equilateral triangle of side ‘[,

The net force on a charge g, placed at the circumcentre of the triangle is

Doty HBATE 3@555“;5?@:: 28] 5,8 +q oo [ Zoadw o Szbadw %‘g"u 96 o d.
Gzbadn H09)3 Sodaw ¢ Gowd w8 Qméméém 1 2 98 ewdn 3w,

Options:

F— 1 (3qql)
1 % 4meg \ 12

1 f(qq
- (5
2. S 4??80 312

3.vF=0

F— 1 (Eqih)
4 % dmeg \ 312

Chemistry
Section Id : 81356135
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions: Yes
Mark As Answered Required? : Yes
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Question Number : 121 Question Id : 8135611721 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Using Bredig’s arc method. which of the following metallic sols cannot be prepared

gah od bg@e‘i‘ ) @;35&)&.6 2 &3P cﬁ:osb % F& & S0rd) BohTan?
Options :

Silver
1 % Dot

Sodium

Platinum

3 % é"éﬁlr‘éo

Gold

4 % (ATl el

Question Number : 122 Question Id : 8135611722 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
NH; + NaOCl —?

Options:
1. % NH,OH

, « NH,C
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Question Number : 123 Question Id : 8135611723 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following elements has the most negative electron gain enthalpy?

2od Arosess’ 328 OS[BS 2080 JVTD T2 3:::5;:“83 Eotnod?

Options :

- [Ne] 3s? 3p?

> % [Ne] 3s? 3p*

3 ¢ [Ne] 3s? 3p°

4 % [Ne] 3s? 3p®

Question Number : 124 Question Id : 8135611724 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statement is incorrect from the view point of molecular orbital theory?
a) Be, 1s not a stable molecule
D) He, is not stable but He®" is expected to exist

¢) Bond strength of N, is maximum amongst the homonuclear diatomic molecules belonging
to the second period

d) The order of energies of molecular orbitals in N, molecule 1s
g2s < 0'2s < a2p, < (Hpr = any) < (H*pr = n*Zpy) 2 Fh.

o) BB)¢PS oo %‘3‘"5 808 PIVTVE’ W0 A JB?
a) Be, fgdmonx) £9Ea) T
b) He, 60 5°6h, 50 He™ giotwod ) grdotsidiioy
¢) Botsd BODE & BoBN WAL Sogé EHOATES BrYVY N, o LA BBASA

d) Ny o) dhog), e B)erd) 33 Sd0adw
025 < 0'25 < al2p, < (Hpr = any) < (H*pr = n*Zpy) < a2,

Options:

1.% 2

3. %

4.v 4

Question Number : 125 Question Id : 8135611725 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Products P and Q in the following reactions. respectively are

So z‘.’:cS]SE.J&‘S"‘ AR P’ 000k ‘Q &Sy v dudot,

OH OH
Zn NaxCrnO7
> P > Q
Heat H>504
ego
Options :
P: Cyclohexane Q: Benzoquinone
P: 25 6 Q: Bo&'8(SD
1. % e =

P: Cyclohexene Q: Cyclohexenone
P: 2 89 Q: 2F 0SS
2. % e E e &
P: Benzene Q: Cyclohexanol
P: 80& Q: 25 6]
3. % = e
P: Benzene Q: Benzoquinone
4V P: €02 Q: Em‘ﬁféSS&

Question Number : 126 Question Id : 8135611726 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The role of catalyst in a reversible reaction is

28 B(HS (agorion) w0(° ed) 6o I

Options :
AP EAMCET 2020
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Changes the entropy of the reaction

€565 Do ATEE
1. % = o

Increases the rate of forward reaction

5w BT 6] TR0 Dowioe

Reduces the time required for reaching the reaction equilibrium state

w0 DTS ﬁ)cs;)c:ama DD TPy Sotie
3.v > B o

Decreases the rate of reverse reaction

S8 wS| ST Shothoey
4, % n

Question Number : 127 Question Id : 8135611727 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a face cantered cubic arrangement of A & B atoms where A atoms are at the corners of
the unit cell and B atoms are at the face center. two A atoms are missing. The simplest
formula for this compound 15

28 D08 $08 30T TE (FCC) 9200885° A HEArtRHL0 afarde 265 Arvwdr B
DOSTEND)D DOS FoTVAT 55aotVR. 9068 Bo A DEATEVL S oWa).
90208, &5 3 FHZNL S VTR &d}éw

Options:

1 % A7 B3,

> % A, B

3 ¢ AB,
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AcB

Question Number : 128 Question Id : 8135611728 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The structure of Marshall’s acid among the following is

SoBT IS’ HI°GS es:0 AIVE), Qo7 ey BwDdoC.

Options :
0O O
I
HO;S i S:—OH
ol Il 1%
1% 0O O

0 0
I

HO—S8 —0—0—S —O0OH

|
- 0 O
0O O
(.
HO—S —S —OH
I
3. i’ () 0
O O
| [
HO—S8—0—S —O0H

l |
4. % 0 U
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Question Number : 129 Question Id : 8135611729 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the electrode potential for given half-cell reaction given below at pH = 4.

2H,0 —— 0, + 4H' + 4e”, EY,y = 1.23V (GivenR = 8.314J.K L.mol™ L.

Temperature = 298 K. Oxygen 1s under standard atmospheric pressure of 1 bar)

2Hy0 = 0y + 4H* +4e7, By, = 123V, & 000 pH = 4 36 J0EE TOJ0DES
@ (3] al

Dodd? (GSEronaw: R = 8314 1K Lmol™, &0 = 298 K, s$yad pire

TE I8 HERD 1876 ¢ &) B)

Options :
1% 153V

, »—0.99V

5« —1.01V

4 » 123N

Question Number : 130 Question Id : 8135611730 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If solubility s represented as ‘S” mol/litre and solubility product as Ky, .the relation
between the two for Zr3(P0,), 1

Trafond 2 ‘S 2re/dus & Hbdatn Frataber 0erd) Ky & P03, 213 (P0,),
o8 &5.)(;’:-5 Notloto

Options :
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Question Number : 131 Question Id : 8135611731 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Air
MnO, + KOH — ?

rmd)

MnO,+ KOH — ?

Options :
% Mng 04

1

, » KMno,

3 K;MnO,

4 % Mn(OH),
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Question Number : 132 Question Id : 8135611732 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements 1s false?

a) BiCls does not exist
b) Ammonia is a Lewis base
¢) SF, has square planar shape

d) BF; has zero dipole moment

S0 HIDT S’ DA B 5°EL?
a) BiCl; £ &3 Jco
b) Eﬂ&:“é.:}uif 2,5 0T TG00
¢) SF, Beh06R Davdo 5760 SHA dotnod
d) BF; (@0 era0san RoeRgew

Options :

1, % 8

Question Number : 133 Question Id : 8135611733 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following pairs exhibit diagonal relationship?

o8 22ehere5° S8 Qoo BWrDG DA?

Options :
1 % Li,Na

, o Li,Mg
3 % Mg, Al

4. ® BE,B

Question Number : 134 Question Id : 8135611734 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The monomers of Terylene are

0893 &° o ArT206 deDE.
Options :

Phenol and formaldehyde

. 2T°e5 S0dain .@“U“éi}:.gﬂci

Ethylene glycol and phthalic acid

28D g5 2005w FOS 3o
2' 23 o

Adipic acid and hexamethylene diamine

Ly DEDSE epo 20Ba0 5B ZAWD
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Ethylene glycol and terephthalic acid

209D 05 20603 S6FDS 20
4.v z

Question Number : 135 Question Id : 8135611735 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The molecular formula of malachite ore is

S0r0FE Grdos) g erd aﬁ“ci.)éw
Options :

| o Cu(0H),. CuCo;

2 % Mﬂ.304
. x Nids

4 % F€304

Question Number : 136 Question Id : 8135611736 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following can be considered as the definition/principle of energy?

208 TS° BAD 33 AE); BTV i}&ﬁﬁoé;ﬁtﬁﬁ?

Options:
First law of thermodynamics
- &RA8S TR0 S0 Do
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Second law of thermodynamics

- EQHAS TR0 Bols DoA0AD

Third law of thermodynamics

- EQAISE TR0 20 Do

4 % AG = AH —TAS

Question Number : 137 Question Id : 8135611737 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Formaldehyde reacts with concentrated alkali to form

T $608 Fom rE ool AN

Options :
A resinous mass
. 2,8 B2 Hotd B350

A mixture of methanol and a salt of formic acid

. DHSS 0Bk w8 F0) S e Do
2. i

Formie acid
- @“ﬁéé 330

Methanol

4w OIS
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Question Number : 138 Question Id : 8135611738 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The internal energy of one mole of an ideal gas 1s given by the expression

$0B0¢" w8 -G 60y TAWY) AN WoBBE 38 APeBd B?
Options :

3
=
1.4 2

1
.;kT

1
—RT

. 2

3
—=. KT
2

Question Number : 139 Question Id : 8135611739 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An aqueous solution consists of Ph** and Cu®* ions. Which of the following reagents is
suitable for the separating them?

Ph** S0Bodn Cu®" eoirden (v 20 Ermed’ eosrd 36 SabEds & Brid
TOT08” DB EHOIFEAHNEIRND?

Options :
NH4N03 {ETQ’J
1 % NHyNO; (20)
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Diluted H,50,
> e H,50,

Diluted H,S

3 % 20 H,S

Concentrated HNO;

4 % TGHNO;

Question Number : 140 Question Id : 8135611740 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many primary amines with empirical formula C,H,, N are possible?

CyH N ®2027d8 aﬁ“doée.rm £0A 2y g\gma 33333@ Ro2TO(H0?

Options :
1.% 3

2.v 4

Question Number : 141 Question Id : 8135611741 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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What product 1s formed when HF reacts with glass?

rerd HF 6] ToBIE DOVE ey 30 D62

Options :
1. ¢ SiFy

, « HaSiF

.« NasAlFs

4 % HySi0;

Question Number : 142 Question Id : 8135611742 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The major product of the following reaction 1s

NaNH,
Cll, =CHBr : P
Red hot 1ron tube, 873 K

2 BO(S” BSIMT EE &) d

NaNH,
CH, = CHBr P
DG DEDoDRE BR0D
o, 873 K
Options :
1 % CH, = CH = ClHl—=CH— C=Cl1
2. %
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Question Number : 143 Question Id : 8135611743 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following shows most affinity towards haemoglobin?

$0BTS° FATHDS H& (o8 928 (256 Tohg) HE.DH) BrdG I&?
Options :
1. % €0z

, » NO

3. % CO

Question Number : 144 Question Id : 8135611744 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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1 3
If the value of K}, for the reaction = N, + 2 H, 2 2 NH; 1s found to be 100 atm.

calculate AG® at 298 K.

1 3
?Nz : 5 ;Hz = 2 NH, t‘.’36553 K, 2e03 100 atm eoond. 298 K ;‘.)-:g AG® R0 riedotiot

Options :
| x 11.42 kI mol™*

5 v —11.42 kl.mol™

3 % 9.71 kJ. mol™!

4% —5.71 kI.mol™1

Question Number : 145 Question Id : 8135611745 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following vitamins is water-soluble and can be stored in our body?

208 T83¢5°, DS’ £8A 0 366065 Jewsd Bobrhe DLDD DE?

Options :
Vitamin By-
- LD By,

Vitamin By

5 x @0 Bg

Vitamin B,

. « DOS B,

AP EAMCET 2020



AP EAMCET 2020

Vitamin B,

)« QLS B,

Question Number : 146 Question Id : 8135611746 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements about hydrogen 1s incorrect?

a) Hydrogen never acts as cation 1n 1onic salts
b) Hydronium ion, H;07 exists freely in solution
¢) Dihydrogen does not act as a reducing agent

d) Hydrogen has three isotopes of which protium 1s the most common

EBD © VowoBod) & BHD HIVT VS DB Sy ?

a) OIS LIEFVS’ TFER STLOIE T DO
h) TraTHS’ PECDHID GO H3 0 2y Gotod
) ErEaS LoLs b HABODLE

d) TESD D Ardd ﬁmg“bmrw S0). THS° HEER0VHE oo

Options :
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Question Number : 147 Question Id : 8135611747 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the number of sulphate 10ns present in 100 ml of 0.001 M H,S0,?

100 ml » 0.001 M H,50, &° Qi)i I-’aef;jﬁ I0EIP AL G0t

Options :
19
1. ¢ 6.022 x 10

, % 6.022 X 108
3 % 3.011 x 10"

4 w 3.011x 1018

Question Number : 148 Question Id : 8135611748 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the concentration of the 2% (w/w) NaCl solution in terms of molality.

2% (w/w) NaCl grodedn oswg), meddd orerdde” dedotod.

Options :
1 % 0.7m

, v 034m

5 % 0.17m
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4. % 1m

Question Number : 149 Question Id : 8135611749 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In diborane are present
@ese & &) &)
Options :

4 bridged hydrogens and 2 terminal hydrogens

. 4 T8 PEB. 2 od| FEB

2 bridged hydrogens and 4 terminal hydrogens

, , 2708 TEBL. 4 wod) PEI

3 bridged hydrogens and 3 terminal hydrogens

. 3760 FEBL. 3 wod| TEI

2 bridged hydrogens and 2 terminal hydrogens

4 x 2 TO0TEBD. 2 0o TEBD

Question Number : 150 Question Id : 8135611750 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct statement regarding H; P05 and H; PO, among the following 1s

H3P0; 208050 H3PO, ©8) 2o2oB0d) $o8T°J¢5° 2OG1A DIBHAw DB?
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Options :
H; P05 1s tribasic and 1s reducing
- H3P 03 805y D600t 0Bt Vb godsoed

H; P04 1s tribasic and is non-reducing
- H3P 03 86Ty 0G0 o oAt Vb £0305068 5o

H; PO, 1s tribasic and is reducing
- H3PO, &=6or() D850t b b £0o385ed

H;PQOj is dibasic and reducing
4w H3 P03 &=60°() 2630 0tha Judainv ©d £05080e3

Question Number : 151 Question Id : 8135611751 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Among the following aryl halides. which one will react fastest with diluted NaOH at high pressure
and temperatures?

©0S el dee LTV 3¢ 90% NaOH & $0B26" D o8 o6& ©dod SO 6] Totdo?

Options :

1% CeH; — Br
> CeHs — 1
5 % CeHs —F
4 % CeHs — Cl
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Question Number : 152 Question Id : 8135611752 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements is correct?
a) Neither pure H,50,. nor pure HCIO, nor their mixture can conduct electricity
b) Electrolysis of 50% H,S0, (cold) produces H, . 0, at cathode and anode respectively
¢) DC current is used for conductivity measurement

d) Graphite 1s better lubricant on earth than on the moon

408 DIBTOS" AB b NN ?
2) 0 HyS0,, %06 HCIO, St o Do3odn D6 Ddofeor 50003080

b) 50% 50 H,50, gramdm JexBeime’ s6& 280w eSE © 96 W
H, Bain 0, © &8 Yoo

¢) DEr(redn S DC s Taed

d) D5 o6 Qo6 Soff 2P 6 0ot SoBIM HIBELIR

Options:

1.% 4
2. % D

3.« C

Question Number : 153 Question Id : 8135611753 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following conditions is suitable for electrophilic addition reaction over an alkene?

doBaT" :36?&}@ e.e@gjig D avg 295 Hog0d $6[8) 9531207

Options :

\ x H2,Pd/C

2 % HBT, (CﬁHE T CO)E 02

R4 BTE )(CCLL

4 » KMnO, JHT

Question Number : 154 Question Id : 8135611754 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For a reaction to be spontaneous at all the temperatures. what are the required thermodynamic
quantities’

wi’)l egﬁg@u S 248 t30] (BT 200EIL STHVND &gﬁﬁ@s HTPAE BONE.

Options :

1 % AG= tve; ALH= +ve; A5 = tve

5 % AG= —ve; A,H= tve; A.§ = —ve

AG= —ve; ALH= —ve; A S= +ve
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4 % AG= Hve; A,H= —ve; A.S = tve

Question Number : 155 Question Id : 8135611755 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The effective nuclear charge for an electron in n = 2 shell in a fluorine atom, calculated
according to Slater’s rules will be

206 DaLATVID B0 FBS eATMY AN, n = 2 SE(E" DardS Sois
u;ﬁ?.ﬁl ﬁébor:ﬁo(i.

Options:

1. % 8.5

, % 6.8

3 ¢ 52

4 % 49

Question Number : 156 Question Id : 8135611756 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A 1000-Watt bulb emits a monochromatic light of wavelength 400 nm. Calculate the
number of photons emitted per second by the bulb.

2,8 1000-65 © Dekog@de 400 nm © 300140 fo 28 36 S0 GLXGo B 8. T

Aod 28 DE’ D005 TP o fitdocsodt

Options :
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. an20 -1
| % 201 X102 s

: 1020 -1
2_*/20.12 X 10°% s

in20 -1
o« 10.06 X 107" s

4w 3.00 x10%° s~

Question Number : 157 Question Id : 8135611757 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following graphs represents Charle’s law?

S0BT°S’ &0 QoA AFDotd T &7

Options :
Tz
N
1. % T
Vv
> /T
3. %
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logV \

log T

Question Number : 158 Question Id : 8135611758 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the percentage by weight of oxygen in a mole of water?

20& 7S DS 6820 OTdo (itdotsol ?

Options :
1. ¢ 88.79 %

, % 80.00%

5 % 75.00%

4 % 60.75%

AP EAMCET 2020



AP EAMCET 2020

Question Number : 159 Question Id : 8135611759 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Name the process which leads to the formation of RNA from DNA?

DNA ot RNA RoBa0th D000 HF Gén&.

Options:
Mutation

;33.'1523‘?'..1.5

Transcription

Replication

G280

3.% e

Translation
5-,3,"5;39-_5';15

Question Number : 160 Question Id : 8135611760 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Maximum deviation from ideal gas behaviour. among the following. 1s expected from

$0B78" 3656, o DIGV0 ol (B8 DSVHAD BrHE D7

Options :

1 % H2(9)

2. % Nz (g)
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3 % CHacg)

4. & NHE’ (g)
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